CSE 326 Reading Quiz

Name: ______________________ Score: ____

Monday 7/10/00

(1 point) Show the result of inserting the values

1    2    3    4    5

in that order, into an initially empty heap(you only have to draw the final result).

(2 points) Show the result of removing the minimum value from the heap (delMin algorithm).

(3 points) Show the result of inserting the values

3   4   5

in that order, into an AVL tree  which initially has two nodes: 1 at the root, and 2 as the right child.   Redraw the tree after each insertion. 

A splay tree initially has the values

1   2    3   4   5

inserted in that order into an initially empty tree. 

(1 pt) Draw that initial tree (no splays have occurred).

(2 points) The node 5 is accessed.  Show the result of splaying twice at 5.  (Draw the results in two stages above next to the original tree).

(1 pt.) A hash table is essentially a glorified (pick one) array/linked list/heap/binary search tree

